5-4 Sum and Difference Identities for Sine and Tangent Wednesday, March 27, 2019 10:30 AM

## Rocall:

$$cos(A+B) = cos(A) \cdot cos(B) - sin(A) \cdot sin(B)$$

$$cos(A-B) = cos(A) \cdot cos(B) + sin(A) \cdot sin(B)$$

Sum Difference Identities for Sine.

$$sin(A+B) = sin(A)cos(B) + sin(B)cos(A)$$
  
 $sin(A-B) = sin(A)cos(B) - sin(B)cos(A)$ 

E.g. sin (105°)

$$A \sin (60^{\circ} + 45^{\circ}) = A \sin (60^{\circ}) \cos (45^{\circ}) + A \sin (45^{\circ}) \cdot \cos (60^{\circ})$$

$$= \frac{\sqrt{3}}{2} \cdot \frac{\sqrt{2}}{2} + \frac{\sqrt{2}}{2} \cdot \frac{1}{2}$$

$$= \frac{\sqrt{6}}{4} + \frac{\sqrt{2}}{4} = \frac{\sqrt{6} + \sqrt{2}}{4}$$
Ain (105°)

E.g. sin (270°-θ). Write this as a ringle function of

$$\sin(270^{\circ} - \theta) = \sin(270^{\circ})\cos(\theta) - \sin(\theta) \cdot \cos(270^{\circ})$$

$$= (-1) \cdot \cos(\theta) - \sin(\theta) \cdot 0$$

$$= (-\cos(\theta))$$

Sum Différence Identities for tangent.

$$\tan(A+B) = \frac{\tan(A) + \tan(B)}{1 - \tan(A) \cdot \tan(B)}$$

$$tan(A-B) = \frac{tan(A) - tan(B)}{1 + tan(A) \cdot tan(B)}$$

\* Varify the first identity.

LHS = 
$$\tan (A + B) = \frac{\sin (A + B)}{\cos (A + B)}$$

$$= \frac{\sin (A) \cos (B) + \sin (B) \cos (A)}{(\cos (A) \cos (B))}$$

$$= \frac{(\cos (A) \cos (B) - \sin (A) \sin (B))}{(\cos (A) \cos (B))}$$

Wednesday, March 27, 2019 Sun(A) con(B) con(A) con(B) con(A) con(B) con(A) con(B) con(A) con(B) con(A) con(B)con(A) con(B) con(A) con(B)tan (A) + tan (B)  $\frac{1}{1} + \tan(B) = RHS$   $\frac{1}{1} + \tan(A) + \tan(B)$ E.g. Find the exact value of tan (15°) tan (15°) = tan (45°-30°) = tan (45°) - tan (30°) 1 + tan (45°) tan (30°)  $\frac{3.1}{3.1} - \frac{\sqrt{3}}{3}$  $\frac{3 \cdot 1}{3 \cdot 4} + 1 \cdot \frac{\sqrt{3}}{3}$  $(3-13)\cdot(3-13) = 9-613+3$ 

tangent of a sum Wednesday, March 27, 2019 11:07 AM  $1 - \tan(\frac{3n}{4})\tan(\frac{n}{6})$ =  $\frac{11\pi}{12}$  $E_{g}$ .  $cos(s) = \frac{12}{13}$ ;  $sin(t) = -\frac{3}{5}$ ; sand t are in Q4 sin(s+t) = sin(s)cos(t) + sin(t)cos(s)given given tan(s) + tan(t)- ten (s) ten (t)  $tan(s) = \frac{sin(s)}{cos(s)} = \frac{-5|13}{12|13} = -\frac{5}{12}$ ;  $tan(t) = \frac{sin(t)}{cos(t)} = -\frac{3}{4}$ 

$$\tan(n+t) = \frac{-\frac{5}{12} + (-\frac{3}{4})}{1 - (-\frac{5}{12}) \cdot (-\frac{3}{4})} = \frac{56}{33}$$

$$\tan (60^{\circ} - x) = \frac{\tan (60^{\circ}) - \tan(x)}{1 + \tan (60^{\circ}) \tan(x)}$$

$$= \frac{\sqrt{3} - \tan(x)}{1 + \sqrt{3} \tan(x)}$$